AP > L0

ST UDY L ENTRE

GROUP IIA - 06.08.2017
GENERAL STUDIES

101. Which one of the following is correctly matched?
I. Gregor Mendel - Neurospora
II. T.H. Morgan - Drosophila
III. C.B. Bridges - Garden pea
IV.J.H. Muller - Mice
(A)I (B) IT (C) III (D) IV
SIPHHEWILuBmIeT 61k Fflwmsll QUTHHS 2 _6ieng)?
I Sl Cewied - mul,Gymerd@uimym

II. T.H. oniégsear - 198ynBamisveum

.  C.B. dfitmed - Camrl uwm

IV. J.H. apsveorr - 616Vlb6IT

a.l b. 11 c. I d. IV

102. Factorization of (x + y)2 + 9(x +y) + 8 is
(A) (x+y + D(x +y) (B) (x + y+])(x +y +8)
©) (x+y+Dx+y+6) D) x+y+8)x+y+2)
(x+y)? +9(x+y)+8-6iT HJewilabeit
a. (x+y+1)(x+y) b. (x+y+1)(x+y+8)
C. (x+y+1)(x+y+6) d. (x+y+8)(x+y+2)

103. What is the difference between the sum of first 'n odd natural numbers

and that of first 'n' natural numbers?
A E+1 B. n(n-1) C. n(n+1) D. n(n+1)(2n+1)
2 2 2 6
waed ‘N’ @mep Buied eeideflal FmBHNBGID (PHe0 N Buied eTewTmer 6T
FHHVSSGHLD 2 66 SHHUWITFLD 616016017
a Niq b. n(n2—1) c n(n2+1) d. n(n+1)6(2n+1)
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104. Before E.V. Ramaswamy Vaikom Satyagraha was first started by three
leaders. They were
(A) T. Prakasam, T.K. Madhavan and K.P. Kesava Menon
(B) T.K. Madhavan, K.P. Kesava Menon and George Joseph
(C) George Joseph, T. Prakasam and T.K. Madhavan

(D) K.P. Kesava Menon, T. Prakasam and George Joseph

F.O0eu.  gmosTS@G (P&, MaUSHD FHHUTHISSHMS OHTLRISW  cpaisl
HENEVGUTHEIT  DIGUTHEITEUDI

a. &. Uysnsib, &.68s. wwrHeuet wBmid Gx.19. Csgeu Goevrest

b. $.6s. wrHeuet, BGx.10. BxFauGweiet wWHBBID MuTey Ggyrall

c. iy Gearall, & Uysmed wBpid &.6%. oTHeue

d. Gz.19. Gxgeu Guerer, & FHTFD OBBID 2TTey Byral

105. Who was called '"The Father of Modern India'?

A. Ambedhkar (B) Periyar' E:V.R

(C) Gandhiji (D) Rajaram Mohan Roy
‘Bl @bFHwmale HhHend 6CISIBeNLLSSLILIGLIGUTU MT?
a. SIbBUSHSTT b. ‘Quilwmit® &.Gleu.ym.

C. BMhHeI d. @yregmymbd Gorse FIUl

106. MRTP Act, 1969 has been repealed and replaced by the competition Act,
2002 with effect from
A. 2002 (B) 2009 (C) 2013 (D) 2016
auteni  BLepsmBUTed  (WBpifleny Sl FF L (MRTP Act), 1969 syeg
THSDI Qauiwi'i (p Gumi9F L LD 2002-B@& BEBT606HH 60 (HH3
DL (BLLGSHSLILILL SI.
a. 2002 b. 2009 C. 2013 d. 2016

107. The basic objective of Gandhian plan brought out by S.N. Agarwala was
(A) Agricultural development

(B) Growth of cottage and village industries

(C) To achieve equality

(D) To raise the material as well as the cultural level of Indian masses
S.N. @isTeuteor o (HeuTddul &MhHUush S L SHFHer igliten, GhToHsIoTerg)
a. Geuermemienld eU6MTH &

b. gyms wBpid Aymow COHmPevsmiIGeTesT euerTTFS

C. FISHHIUNHMSH iDL US|

d. @UGOWISs  SbHwureale  cpeold  WOBBID  HOTFFTT  Hewevuienest
2 _WITSHHIH6L
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108. The last Deputy Chairman of Planning Commission of India was

(A) Manmohan singh (B) Narendra Modi

(C) Arun Jaitley (D) Montek Singh Ahluwalia
AhFHW S LEHGHWaIET SBISUITET  HIeN60TSHSH6MEV6UT

a. weiGmsear Fni b. BCybady Giomg

C. O|mewt B 6l d. wraiGLs Hm SeveuTedium

109. In India, power of Judicial Review is restricted because the
(A) Executive is supreme (B) Legislature is supreme
(C) Constitution is supreme (D) Judges are transferable
@phHwmaled BHHLILEITUIE] DIHSTID eumTULIMBEGLLILL HI. 66larelev
a. GFweLgIemB 2 WITeUT6IS)
b. 5l LSHens 2 _witeureig)
C. QITFWeLeMIDLIL] 2 _UITOIT6IS)
d. gHudlser SLIOTHISIHESG 2 1 UL L a)THe6l

110. The government of India instituted Bharat Ratna and Padma Shri awards
under
(A) Article 14 of the Indian constitution
(B) Article 18 of the Indian constitution
(C) Article 25 of the Indian constitution
(D) Article 32 of the Indian constitution
@bhHW  OPETRISD LTS FHOM WLBDID usonf  ell[h Hisemern
alFHullesr S o (HeuUTHEIUL|6TeNGI.
a. @by odued FUL algl - 14
b. 8pHw opflwed FL aldh - 18
C. @bHw opfwed s algl - 25
d. @b opflwed FL el - 32

111.Iron Lady of Manipur, [rom Sharmila got how many votes in the 2017
Manipur Assembly election?
(A) 10 votes (B) 30 votes

(C) 60 votes (D) 90 votes

wemiliyfler @mb Ouewioeml @6mD egmdlent, 2017 wewilILT OTH6L &FL L LD6TNH
BxTHevled UMM UTHGH6NT 615HH6M601?

a. 10 aurs@G®er  b. 30 aums@G®seT C. 60 amsGsen  d. 90 eund@EHsern
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112. Which district of Tamilnadu, Chief Minister announced new dental college

from the year 20177
(A) Chennai (B) Dharmapuri
(©) Virudhunagar (D) Pudukottai

bhd LTIl L SHFH60 LHul L6 WHSHHieudh Heoaumi 2017-ub 1601960 OSHTLMHISIL
SODBTH (PHEVMIDEFFT o _SHHTeIL BHeiTerTiT?
a. QFairenent b. sl C. al(hBIBST d. ysIBCHTL_ ML

113. Which one of the following state government has shifted its financial year
from [April 1 to March 31] to calendar year [January 1 to December 31]?
(A) Kerala (B) Madhya Pradesh
(C) Punjab (D) West Bengal
6hFH @b WIHD SFsF Qbs BH Sengelphba (guged 1 — womE  31)
HTeVEWILT Syemngm@ (Meteufl 1 — w&FbuUT 31)-6@& WLIBBWeTeng)?
a. Gayenm b. wgHwit y8xsab c. ughamt  d. GuibE eukIHID

114.In Transmission Electron Microscope (TEM) is used to
magnify the objects.
A. Light B. Optical Lenses
C. Electrons D. Scanner
oar(p(mHeley Llleienaml  BHlewiGeumadluied (TEM-6b) QUIT(HL_BHemer
CQUAgZILGSSL LWTLIHS MBS
a. gofl b. &ulngsed GlevaiTerdd6IT

C. 6TeV&HL a6l (Laiaianid sHTHer) d. er0CHeTame

115. The Respiratory quotient value for glucose is

(A) 0.5 (B) 1.0 (©) 1.5 (D) 2.0
GEHHCHTH &HOUTF F6y LS
a.0.5 b. 1.0 c. 1.5 d. 2.0

116. What percent of an hour is 36 seconds?

(A) 6% (B) 1% (C) 10% (D) 36%
36 alemg 6l @(H Lewiuled 61HHMe FHaIFHLD DLGHLWD?
a.6% b. 1% c. 10% d. 36%
1 I+m
() (X—J ( o) =
X
, 1
A.1 C. xm™m D.

m-+n+l

4 | Page PH: 24339436, 42867555, 9840226187




1

m+n+l

X

a. 1 b. -1 c. xmrn d.

118.If the LCM of x and y is z , what is the H.C.F of x and y?

ALY B. X c. X D. xy
z y X

X, Y @eupmledr 15.0Um.o. Z el6led X, y-er L5.6Lm.6u. 6redteor?

a. X b. X2 c. 22 d. xy
z y X

119. The number of delegates who attended the first session of the Indian
National Congress was
A.25 (B) 100 (©) 72 (D) 2000
b Cardw  stmSFIET  (PHeL HLLES OHTLMD HevbH — OEHTeIL
LNy SIS 61T65T 6760676807 b 6w 60T
a. 25 b. 100 G2 d. 2000

120. The revolutionary nationalist Nelakanda Brahmachari was born at

A. Thirunelveli (B) Madurai

C. Sirkali (D) Chennai

Yyl fagoner CaFlwieurd) meudewil LIgbwgat Lphs SLLb

a. HmOmevBaued  b. gy c. ramf d. Gz eirenen

121.Mercury the smallest planet has only 88 earth days to orbit the sun,
because
A. Size of the planet B. Spinning speed

C. Distance from the sun (D) It's thin atmosphere

WasFHABw  OwTsgf  GCamenmergd @flwener ampsl euy 88 BT &6 10 BEW
HBGI.  JOleTenNeL

a. OIHFT |66 b. gpeoib Geussid

C. GflwelLO(mba 2 6ifem HMyD d. 91361 Goevedul a6 VLD

122. Match the disasters with its type and pick the correct answers code :

(a) Blizzards 1. Hydrological disaster

(b) Tsunamis 2. Health disaster

(c) Nuclear accidents 3. Atmospheric disaster
(d) Pandemic 4. Anthropogenic disaster
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@ ® © @
(A) 2 1 4 3
B) 2 3 4 1
<© 3 1 2 4
(D) 3 1 4 2
Nestaupd CUfiLTIUTGHemen SIH6T aueSLIUTL CLTB QUTHSHSH alenL. HTewisH.
A. ueitiyued 1. pilwed Guyfey
B. oufiiBuyensv 2. @araty Curley
C. gmelusal 3. auefleniev Guiridey
D. OsmmpiGhrul 4. wreni Guyfey
A B C D
a. 2 1 4 3
b. 2 3 4 1
C. 3 1 2 4
d. 3 1 4 2

123. The special status provided to Jammu and Kashmir under Art. 370 limits
parliament to enact laws relating to
A. List I and List -III of the Seventh Schedule
B. List I only of the Seventh Schedule
C. List-II only of the Seventh Schedule
D. List I, II & III of the Seventh Schedule
@b SFFweoemolIF FULSSHe 370 L WD LOBMID STAJST LOTHeuHIHMES
oy obsHevd  CETBESLILL (HeTen  Hleneouled [BTLTEHLOGBLD MID(Lp  LOBHBID
STOJIOT 1OTHeL CGHTLTL DLW FL L BIGS6T SuIBnieud
a.ucguied I iommid I (gomeug i L euenesr)
b. utguied 1 (gomeug oI L euenemt) O BLD
c. ulpwed II (gpmeus S L euenemnt) DL (HLD
d. ucuwied I, IT wmmud I (gomeug I L eueneur)

124. The ideals of liberty, equality and fraternity enshrined in the preamble of
the Constitution of India were adopted under inspiration from the
A. American Declaration of Independence
B. French Revolution
C. Russian Revolution

D. UN Charter
FFHHAHTID, FLDSHSHIAILD, FCa1HIHSHIAMUD 61601 OBTeITENHH6IT Sbgul

SITFWIeVEmLOLILT 65T (PFHE|eMTUTED L|60T HLOTEOT6DEUUIT S IMBLILILL 6nLDSE)
HTWBHe0TE QBHSSH 61517

a. 9I6wfss alBeHmevls LIFsL eib b. NOyEhaE(1 Ly &

C. Jadwil Yy & d. ;.p1. FrFeID
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125. Find out the total votes of the electoral college for the Indian Presidential

Election, 2017.
(A) 11,00,346 votes (B) 11,04,546 votes
(C) 12,06,232 votes (D) 13,00,346 votes

b amgdHugl  CxhiTHed, 2017-smen  CaTmHed  seveumiluler  Goms s
QUTHGH BT HewI(BLIIG.

a. 11,00,346  auUT&@H6I b. 11,04,546 eumd@®6r

C. 12,06,232 aumdh@dei d. 13,00,346 auTdhEGHDH6N

126. Which one of the following is the objective of perspective plan 20237
(A) Create Employment Opportunity

(B) Digital Technology

(

C) Award

(D)  Reward

BewiL  &Mevd HULID 2023-60 SPHHWILeneUBH6eiled 61FH  (IpHBHW  CHToHHIOTS
SHSULBSBSI?

a. GouemevauTUIIenLl 2 (HauTh@GHe0  b. etewing, O&HTifled B LD

c. almal d. s&nomed

127.Projectile motion is a combination of horizontal motion with

constant and vertical motion with constant

A. Acceleration, velocity B. Velocity, acceleration

C. Displacement, velocity D. Velocity, displacement

alOLIT(HeT BUISSHID 6TRILIGH  LOTBTH OamemiL SlenL 1ol L BuishaLd
LOBWILD  LOTBTSH Camewi  OFmIGHSHH Budbsd SFHeumBsler
&H6VEN6 HGLD.

a. (WhdHD, HewaGaimld b. HengBeusid, (PHHBLID

C. @LLGuWTFS, FHemaGeusld d. HengBausid, S LIGLWITFS

128. Nuclear force is
A. charge dependent
B. spin independent
C. both charge and
D. spin independent in dependent but charge independent
DIEISHSH[H NS UITEIS]
a. TEITL L $0SHF FhS 66Nl
b. swpBdlenwt FrHATTSI
C. T L 1D 1oB@ID SloBdlenwl FTibHTTg
d. swpBdlenw FATHSI6TENG SLEITeL OGN LD FTHATTSI
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129. Tax is charged on some items which are manufactured in the country. This
is collected by the Government of India. This Tax is
(A) Direct Tax (B) Indirect Tax

(C) Excise Duty (D) Service Tax

B  BTLYeL o BusHd OCFuwiuGHam CummeTseT Feveoumnlear Wgh  eurfl
NP bBEILGHGBGH. D& MW HJHFHEGHF CFHAIBEH. DbdH e

a. Geips eufl  b. wenpps aufl . deomed eurfl d. Ggemeu eurfl

2 —_—
130. The value of X2 2x  3x+6
X“+2X X-2

(A) 3x (B) 3 (C)3x+2 (D)x-2

x2—2xx3x+6 @ iy
x> 4+2x  x-2

a. 3x b. 3 C. 3x+2 d. x-2

131. Which of the following is arranged in correct ascending order?
A.25% of 8, 40% of 6, 30% of 9, 20% of 15
B. 20% of 15,25% of 8, 30% of 9, 40% of 6
C.30% of 9, 40% of 6, 25% of 8, 20% of 15
D.20% of 15,30% of 9, 40% of 6, 25% of 8
LTedTau(hHeUeToUBMIGT 6% FMWITET eJpiaUTlenguled SIenLObHEHIeT6NHI?
a. 8-60 25%, 6-60 40%, 9-60 30%, 15-60 20%
b. 15-60 20%, 8-60 25%, 9-60 30%, 6-60 40%
C.9-60 30%, 6-60 40%, 8-60 25%, 15-60 20%
d. 15-60 20%, 9-60 30%, 6-60 40%, 8-60 25%

132. Which of the following is larger in area?
A. A triangle with base 10 cm and height 8 cm
B. A triangle with sides 12 cm, 5 cm and 13 cm
C. An equilateral triangle whose sides are 10 cm each
D. A right angled triangle whose sides containing the right angle are 3 cm
and 4 cm
Lesteumeuesteummie uylienaled Guflwg e1gi?
a. IglIdSsd 10 GF.15. @ wgb 8 OF.18. Osmewi (aHGHTemnId
b. 12 @518, 5 GF.18 wB@ID 13 OF.15. USBEIBET 2 66 (LpHGHTEILD
C. 10 G&.18. ussD 2 sen FOUSD (LPSHEHTERID

d. QsRBsTaniHma 2 6o SHul UbBEIGeT 3 GF.15. wwBpd 4 G&F.8.
o o6 (Lp&HGHmerid
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133. Tambapanni is the old name of
(A) Tamil Nadu (B) Kerala
(C) Srilanka (D) Karnataka
SLLoLITenT  eTelallLSaler Lienpul GLwiT?
a. SOPHTH b. Gaiyernid C. 60T d. &TErLsib

134.Name the journal which declared 'Swami Vivekanand the greatest figure
in the Parliament'.
(A) Young India (B) Samachar Darpan
(C) Swadeshi Mitran (D) New York Herald
‘ungmepaBHHar  Hweodmbs  BUT  alGausTearheHT  elewim @GN L
uGHNbemauler G
a. wm @bawm b. gonFsT SHitues
c. 58x81 10&ein d. wwiniéd Qamyreor

135. A scheme to provide Support to Training and Employment of Women
(STEP) was launched in the year
(A) 1986 - 87 (B) 1990 - 91
(C) 1995 - 96 (D) 1996 - 97
Quewrseflenn LUIBE BEID Geuemev eumuiIBsTer oipre) (STEP) e &b
SIBI(WPSLILGSSLILILL.  S1601(h
a. 1986 — 87 b. 1990 — 91 c. 1995 — 96 d. 1996 - 97

136. Prime Minister of India inaugurated India's longest road bridge on May
26, 2017. Which states are connected by this bridge?
(A) Assam and Arunachal Pradesh
(B) Assam and Manipur
©) Assam and Thiripura
(D)  Manipur and Thiripura
@b  Ugswogreo, G 26, 2017-b mHIeT SbHHwTalGobuw Wsead Hemomeo
gTemevll  LTeVD  FHWbHSH MUSSILULLSG. DiFH  6hH G  LOTH6VHISMENT
B em6uuT BTG ?
a. OIENENTD BMID SiHewimdFFeol! LIFGHaLD
b. &jerveromd wBEID el ILT
C. Slerveromd oBmId  Hiflygm
d. wenfiiyT wBpId Sy

137.The first stage of the strategy related to Intensive Agricultural District
Programme was started in the year
(A) 1951-52 (B) 1960-61
(C) 1965-66 (D) 1990-91
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gally wreul L Geuenmewt S LD OHTLTUTET (1pH60 LIgHlenew @bdH  S6e0ib
SIMRISBLILIL LS.
a. 1951 — 51 b. 1960 — 61 C. 1965 — 66 d. 1990 - 91

138. Which of the following statements are correct with regard to Tamil Nadu
'Pudhu Vaazhvu Project'?
(1) It was launched in 2005
(ii) It is aided by World Bank
(iii) The total outlay is Rs. 1,667 crores
(iv)  Itis being implemented in 26 districts
(A)  All are correct statement
(B) (i), (ii), (iii) are correct
(©)  (ii), (in), (iv) are correct
(D) (i), (ii) and (iv) are correct
SODHTH SFFler ‘Usl aumpey S LD’ OSHTLTUTET SHDoHHEIL FBBIHeTed 6lenel
gflwimeeneu?
(®) @HF LI 2005-60 OHTLMISLILLL
(i) o s amd BabE BH 2 sal PGSBS
(iii) BsBsrar FLLOFe 1,667 Csmg dHUTL
(iv) sODBTIg6d 26 WTAILL BIG6T0 S LD CFweLbHSL! LBSBSHI
a. OIMATHSH FnBBIGEHD &l
b. (i), (ii) wBpo (iii) sfwmereney
c. (ii), (iil) wmpd (iv) sfwrerensu
d. (i), (ii) w@mw (iv) sfwrearemeu

139. What percentage of total cultivation area in Tamilnadu is rainfed
(Manavari)?
(A) 55% (B) 57% (C) 54% (D) 52%
SODBTL 1960 6T6laIeT6] FHAIHHH60 OLoTHgd UUNT Fm@Guigll LFLled omentmeur s
UGS uled LuWIfLOLGaBgs?
a. 55% b. 57% c. 54% d. 52%

Note: As per the report of dept. of land resources, The rainfed area extends
over 97 m.Ha, which constitutes nearly 67% of net cultivated area in Tamilnadu.

140. Indian Neutrino Observatory is situated in which district of" Tamilnadu?
(A)  Madurai (B) Theni
(C)  Cuddalore (D)  Chennai
BphHw BHul NG SUIe &L LD HOIPHHHET 6lhFH LTIl L SHH60 © 6iTeng)?
a. LDGIeN] b. Gxen C. SBLGUIIT d. Qaeirenest
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141. Which one is wrongly matched pair in their characters?

(A)  Pancreas - Glucagon

(B) Small intestine - Stomatostatin

(C)  Testis - Estrogen

(D)  Adrenal gland - Glucocorticoids

SPEHWIL.  OUTHSHHHIS6MED  Lewilselar  SgliienLulled  61%H  SHeUWmTent
QUTHSHLOTGLD?

a. HeN6ETUILD - & @THE BT

b. AmiL60 - erOBL oL BLmerdBL Lo 65T

C. b HELD - FreroL_ Gymlegest

d. o1 fered &y - &EHHCHTHMTIQHTUIL 610

142. Which of the following hormone stimulates contraction of uterine smooth

muscle?
A)  Epinephrin (B)  Insulin
(©)  Oxytocin (D)  Glucagon
SpbaamiLeuBpieT by anmTCrer S@plmuUular  Cbgl HMmFHMENTF  Si(HHS
2 _hHB B’
a. erNOmLIMesr b. & a6l et c. HIGLTdar  d. G 6hdbHHT6
143.If A=+,B= -+, C=xand D = - then what is the value of CZB;AE D% =7
A.21 (B) 1.2 ©) 2.5 (D) 1.6
A asiugemet + eteiayld, B er@ugenenr + etemad, C eraiugenen X eevied, D
GTRTLIHENG - 6IGIRLD ©l&BT6uTLT6L ! —C2B—- ! A— ! Di =
5 5 5 10
a. 2.1 b.1.2 C.25 d. 1.6

3 2
144. The value of = 1+ X+x+1
X+3 3X+9

(A) 3x-1 (B) 3(x + 1) (C) 3(x-1) (D) 3x +2

x3—1+x2+x+1_6& g
X+3 3x+9 H

a. 3x-1 b. 3(x+1) c. 3(x-1) d. 3x+2

145. Arrange the following in chronological order :
1. Senkuttuvan 2. Emayavaramban
3. Kanaikal Irumporai 4. Kuttuvan Cheral
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(A)2,1,4,3 (B)4,2,3,1

) 21,34 (D) 3,24,1

LTeiTaU(HAUTOIMBENB HT60 UM (LPBLILIGSHIHIS.

1. QFmiIgL (heuedr 2. ©IouIeUFLDLIGST

3. HMEUISHBTEL B(HLOGUTENM 4. L (heuet BaFyev

a.2, 1, 4, 3 b.4, 2, 3, 1 c.2, 1, 3, 4 d.3, 2, 4,1

146. In Chola kingdom the revenue department was called as
(A) Perumtharam (B) Utan Kuttam
(C) Puravuvari (D) Olai Nayagam
Gamp BHTLI960 aUHEUTUI HIHM 6GTOUIATHI DIHLPHBLILIL L HI?
a. Qu(pbGHTTID b.e2 Lem gl L c. ygayeufl d. @evev HTUISLD

147. Despite the substantial improvement in health conditions of people in
India, there has been certain negative trends due to
I.High incidence of HIV/AIDS in rural areas
IL. High incidence of HIV /AIDS in urban areas

111 Growing incidence of Heart diseases and cancer in rural areas
IV.  Growing incidence of Heart diseases and cancer in urban areas
(A)  All are correct (B) I and III correct

(C) IIand 1V correct (D) I, Il and IV correct

OhHu 1HHeMET 2 60 Hemeoulled SHewNFIOTRT Dloe)] (WeTCIBMID  GBUL (HeiTer
Gurgleuiid, &l60 SBITTJ GUOTTRI GTTITEL aI&ToemMm Bura g, STl LGS BS).
GopanplweBBiBG, Lleeumeuareumnied Fifluwimer alenLsemend GBILILIGS.

m.  HIV/AIDS &gmoliphiseied SIHBI0TE 2 6T6ensHmed

II. HIV/AIDS pamipriseied IFHI0NS 2 6TenHmed

II. @swemTul wmpid CseaigT SFTolphiseisd DIFHSHOTS 2 6TeTHTe0

IV. @sw Gprmul wBmibd CseraT BSTUILBHISTI60 HHBHOTE 2 _6TenHTe0

a. SIMISHHID FHWITEISH) b. 1 wip I sfwrers

c. IT wpmip IV gflwmerg) d.L III wimn IV sflwrers

148. Which one of the following is not correct related to the distinctions
between the grants under Article 275 and Article 282 of the Constitution of

India?

(A) The grants-in-aid under Article 275 are statutory whereas under
Article 282 they are discretionary

(B) Under Article 282, the union has the power to provide grants-in-

aid even for non-plan expenditure
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© Under Article 275, the union has the right to give grants in
accordance with the decision taken on the basis of
recommendation of Finance Commission

(D) Allocation of Grants under Article 282 is based on the
recommendation of Cabinet Committee

LeiTau(HaueTaUBmIeT 61hdH @Bl AbhHul SFwevenioli] UL aldseT 275 oBMID

282-651 &b QUPRISLILGBD LTl WmISEhdHE enl Cuiwimer GeaupurhseT OHTLTUTS

gllwren ey ojeL6L?

a. algl 275-a1 S, aUPMISLLGBD Tl o SHal FULLuQuimeaidl. a]g 282-61 &SLp

aupmISLILGaI T alfliiyflenowimetgi.

b. alg 282-61 &b, WHHAW DFFHEGF HLD FIT OFeValIbIBEHHEGD DT

® Hal GIPRIS HHFBTID 2 66Nl

c. alg 275-a1 &, MFH SemewibSHer  ufibgpiengulesr Guiled e1BSHBLILL L

(WY |Hefler SIQLILINL UNED LOTENUIRIGHEMET ILPHIGEVTLD

d. el 282-a1 &p SewwFFTma  Gupaler ufbgiewyulest  Siglien ullgyid

LDTGONWLIMBIGEM6TT  QULDHBIGBEVTLD

149. When BSE's sensex has reached its maximum 30,000 - mark for the first
time in the history?
(A) 26 December 2016 (B) 26 January 2017
(C) 26 April 2017 (D) 26 May 2017
BSE’s aitdsa Uetefl 30,000 ueTefldell  6TeiB  oUFOTBHDI 2 WITHMS  (LPSH6ST
WH6eJ60 61h& BTerled 61l 1guig)?
a. 26 1aur 2016 b. 26 mereufl 2017¢. 26 gliyed 2017 d.26 G 2017

150. The Indian Space Research Organisation (ISRO) successfully tested
indigenously developed cryogenic engine on
(A) January 25, 2017 (B) January 30, 2017
(C) April 1, 2017 (D) March 30, 2017
Bpdw  alewieuel oymuisd  Bmeuend  (ISRO),  wweugid  @bHwneied
o maurdslul L  HojCurmels 6bATHmd Couppdsyors  Garsamer OCFu1I%H

[BIT6IT
a. ;ateufl 25, 2017 b. sgemeufl 30, 2017
C. gliged 1, 2017 d. g 30, 2017

151. The area of a semi-circle of radius 7 cm. is

(A) 7 cm? (B) 777 cm3

(C) 77 cm? (D) 7777 cm?

7 QF.10. I 2 6ol T QUL L SHHlesT LIFLIL

a.7 Qg.6.° b. 777 Q@&.8° c.77 Qg.8? d. 7777 Gg.8°
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152. The oxidation of SO;~ to SO;™ ion by oxygen
SO +:0 5807 . ... . o o :
: = "% in this reaction which is Lewis acid and Lewis base?

A) SO} is Lewis acid and oxygen is Lewis base

(
(B) Oxygen is Lewis acid and SO, is Lewis base
(C)Both are Lewis acids
(D)Both are Lewis bases
bdmameard QBTeniG SO (1pHev SO bAMCRMBID CFUIUID  SIPHBHTEID
aleneruiev,
S0 +:0 — SO2
Qf:s) @rru_‘ﬂﬁm Slbleoonsed 1% eumuilerd &mJwTEab CFweLIBHBHI?
a. SO gmuferd ofevld OBWID SbFlEger emulerd &MyiD
b. eysbdmar emuierd oufleod WBBID SO emulerd &MyLD
C. @renibd eumuilerd ©ILDEUMIGH6IT
d. @yewiGd sumuilerd &TymIGa6i

153. A boy is now twice as old as his sister, four years ago, he was thrice as old
as her what are their ages now?
(A)18,9 (B)14, 7
(C) 16, 8 (D) 12,6
QM Ul SBOUTMHW awdH Dleueaid Shiendsulear auwemsll Gumen G
LM, 4 ewihBEHHEG (P& DIEUSIH UG DIAUT HhHINSUIET  UULInHSLI
Gumev eLpedT3l DL MG 6Tedlle0, DlauTHengl SBOUTMSHW UG 6T65T60?
a. 18, 9 b. 14, 7 c. 16, 8 d. 12, 6

154. x¥?:9=16:+/x. What is the value of x?

(A) +16 (B) £3 (C) +4 (D) #12
x*:9=16:x eafled X-air AL 6TesTenn?
a. =+ 16 b.+3 c.+4 d. + 12

155. The arithmetic mean of a group of 75 observations was calculated as 27. It
was later found that one observation was wrongly read as 43 instead of the
correct value 53. Obtain the correct arithmetic mean of the data.

(A) 26.13 (B) 27.13 (C) 28.13 (D) 25.13
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75 elewisemend OBmewiL @b OHTGHHulest Fymgfl 27 eleid HewISSILLILLL Sl
NedT], 53  6I&IB 616w HAUBIHEOTSH 43 el@iml  LgdhSUIUL LG LNedteorT
sBLgSSIULL GI. 61eBal, DIHOHTGH Ul Fflwmenr FymFfenuid STewToLD.
a.26, 13 b.27, 13 c.28, 13 d. 25, 13

156. A sum of money triples itself at 8% per annum over certain time. The
number of years is equal to
(A) 24 (B) 25 (C) 20 (D) 12
THHM  SLIBBET  (paled @ GHIUI L Sigemas 8% el afssHdew
CLPEOTMI  LOL_MRISBT(GHLD?
a. 24 b. 25 c.20 d. 12

157. Cultivable lands which has not been ploughed for between one and five
years are called as
(A) Culturable waste (B) Current fallows

(©) Other fallows (D) Permanent fallows

LWL Samlgul  [HEVRIGET @6IBI  (PHEO  MHH  LWIBH6T ey 2 [PLLLTS
QUTIRE, DI BeiaTnl SIMPHBLILIGSBHI?

a. LWeTumLBm  elenenhleotd b. pL LT il

c. Up sfa d. Memeowimenr GouiFFed Hlevld

158. Tidal forests of Ganga-Brahmaputra delta, mainly consists of

(A) Rhododentrons (B) Hardwood palms

(C) Laurels (D) Junipers

&hIend — LJDUSHIT  DeweoThHd  STHDH6I0  (pHHWITHS  STewILILIBHLD
LDJ 6)6M B LITGITGH]

a. Q@O a1 Gymedterd b. slgan LieneT UM

C. GUIT6LGID d. sQesfiiu

159. Whether governor of a state has the power to dissolve the state
legislature?
(A) Yes
(B) No
(C) He / She can only recommend
(D) Only President can
LOTHIEY FL L DSIMBHMSH HMEVHGHID DISHSTTD OTHIED DLEHH(HEHE 2 6/TenHT?
a. 9o
b. &evemnev
C. oluT ufbgieny L GO OFuIw (pIQu b
d. guuyas sHemeveuT I HGWL GFuIwl (iU D
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160. In the rules of business of Indian Parliament, if the speaker admits, notice
of a motion but no date is fixed for its introduction — then it is called
(A)  Call attention motion
(B) Adjournment motion
©) No confidence motion
(D)  No day - Yet - named motion
BTLTEHOSIB  ewad  alFldeller Ly,  FUTHTWST  DIDIDHHIHT6V,  @hH
SrorerhIHBsrear opismaemul Cxhgl  GBILLILTD CaTemiG  auFeoTd - SiLiLIg
Cameni(h 6UBLD SHTOTAISHSHMBE 66t GILILIT?
a. HEUGT MTLIL| SHTLOTEILD
b. @HHenauliy SSiomeid
C. pLoLlsbensullebeom &TLoTeoLD
d. Gmgdluflevevr, GUIWIT G LU L STOTeD

161.In India which organisation's scientists recently produced electricity from
water without using energy?
(A) NPL, New Delhi (B) IISC, Bengaluru
(C) USER, Kolkata (D) IIT, Chennai

@bhHwmaled 6hdH OmOLImLEF  FTTHS  alehebTelsel  HSBCUTH  BleJHHS
SLBB60 61&ILD LwIeTLI(H & SHITLDGV LOlGITF T LD 9 (IheUMT&HS (LpIQUYLD 61607

BTN\ FHIGTTGITTH6IT ?
a. NPL, uygsl GLevel b. IISC, Gubisemm
c. [ISER, GasmeossHsHt d. IIT, Qserene

162.In which place Prime Minister of India inaugurated the country's first
Indian Institute of Skills [IIS] on Dec. 20, 2016?
(A) Ahmedabad (B) Bengaluru
(©) Kanpur (D) Varanashi
&buT 20, 2016-60 LIgHo  WOHEHM  HILQET (WHeT (PHeoTdH  6lhdH G GHFH60
OpHu Fmer Hpuaibms (1IS) seusd meudsir?
a. SIBISHTLITSH b. QuIBIHEHH c. amenyT  d. eunyewimd]

163. A supernova is an exploding star. In which years the last two supernova
are visible to the naked eye?
(A) 1600, 1980 (B) 1601,1982

(C) 1604, 1987 (D) 1605,1997

GUuT  Ghmeur eleiUB @ Oeug ellewiler. STHTIewT  UTTeDeUdhE LjeOLIL L
smLF @rewih GUUT Gpmeum 6bd eUBLMIS6MNeD OFHMHHH?

a. 1600, 1980 b. 1601, 1982 c. 1604, 1987 d. 1605, 1997
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164. Calculate the dimensions of Planck's constant 'h', using the equation E =hy

, where E — energy and y —» frequency
(A) MLT (B) ML2 T
(C) ML21 T2 (D) ML2T1

E=hyelam gwewm e Lwe®eHd), Nemmmid wrfled  ‘h’-ar  ufiorensHamad

HHHBH. @mEG E—> uBmed, y — DiglTbleus
a. MLT™! b. ML*T™ c. ML'T™ d. ML>T!

165. The cylinder whose base is not in circular form is called

(A) Circular cylinder (B) Right circular cylinder

(C) Oblique cylinder (D) Irregular cylinder

@T 2o (Hhewemulel SIQliTalD L augaled E60en60  6T6alled DI
DIMIPHSBLILIBLD?

a. Il L © (Henar b. GrT aul L o (Hewer

C. MuleY] 2 (Hewer d. QupmisBs o (Hewer

166.10 sq. m. is equal to
(A) 100 gq. cm. (B) 1000 sq. cm.

(C) 10000 sq. cm. (D) 100000 sq. cm.
10 1§ eletiUgl 61HBE &LOD?
a. 100 Gg.1f b. 1000 G&.1f c. 10000 QF .15 d.100000 Q& .1

167. Where the All India Muslim League was formed in 19067

(A) Mumbeai (B) Uttar Pradesh

(C) Chennai (D) Dhaka

ARG OB BhHul (1perdeSid 656 1906-60 GBUBHBUILI L F?

a. (plbemLl b. 2 851 MBxss>  C. GFeiener d. LmdhsT

168. When 'Swadeshi day' was celebrated in India?
(A) 27 May, 1932 (B) 28 May, 1932
(C) 29 May, 1932 (D) 30 May, 1932
alioumpgl ‘F8xd BmeT’ @bhFHwTaled Gemewim i’ &i?
a.Gwo 27, 1932 b.Gw 28, 19332 c.Gw 29, 1932 d. G 30, 1932

169. What is the 85* term of the sequence x, x*?, x*, x*?

85 45

A. x2 B. x2 C. x® D. x*

e OHTLT euflengulledt o mili] eredrent?
85 45

A. x2 B. x2 C. x*® D. x*
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170. The radius and the slant height of a cone are respectively ‘¥ and ‘I’. What

is the volume of the cone?

A. %an\/IZ —r? B. %nrlelz +r?

C. zrl D. zr(1+r)

Q@ Gabller b wBmid  FTuwyd  wempGw ‘v’ wmmd 17 eefled  Fniblledt
BHEOTDI6TT6)|  6T60T60T?

a. %nrlelz -1’ b. %an\HZ +1? c. mrl d. mr(l+7)
171. Which one of the following matches is correct?
(@) Thyroid hormone 1. Cushing's disease
(b) Insulin 2. Myxedema
(c) Corticosteroids 3. Acromegaly
(d) Growth hormone 4. Diabetes
a b c d

A) 1 2 3 4
B) 2 4 3 1

C) 4 2 1 3

— —

D) 2 4 1 3

SpHHMIL.  CUT(HHHHH 60 LeniL|Heila SlgliLienL uiled eleneu gifluimeeneu?
A oaymuil emmirGomer 1. @dmerd Gpmul
B 66156V 60T 2. dbeniigLom
C &ML 19@smerdleymuiL 6rd 3. 9168ITOISHTE)
D Qe ammT@Lomest 4. wrdey Gpmul
A B C D
a. 1 2 4
b. 2 4 3 1
C. 4 2 1 3
d 2 4 1 3

172. Match List I with List II and select the correct answer using the code given

below :

ListI List II

(@ P.A.Sangma 1.  Telugu Desam party
(b) G.M.C. Balayogi 2. CPI (m)

() Manohar Joshi 3. Shiv Sena

(d) Somnath Chatterjee 4. Congress -1
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@ (b (© (d
(A) 2 3 4 1
(B) 4 1 3 2
) 2 4 3 1
(D) 4 3 1 2

utuwed I o rer wliued Il QummsHd, uluetseEnsd SO o elern
OaTE@UImbHEH giwmer alemLulmerd afle CFuis.

U iguieo 1 L iguiey 1T

A P.A. giior 1. Opsumig BGhabd &L &
B G.M.C. umeo@uirs) 2. Hl.i.eg. (om)
C oBamasT By 3. FlauBgeumm
D  Gombprdh LTl 4. smmdyed (I)

A B C D
a. 2 3 4 1
b. 4 1 3 2
C. 2 4 3 1
d. 4 3 2 1

(A)  Chennai - Tamil Nadu
(B)  Ujaini-Madhya Pradesh
(C)  Cochin - Kerala

(D)  Khargpur - West Bengal
gredell  &MHEH  oley gt QFThzm o feww  FULLueTel  SieLObHRleTeNS)

hbIfl60 LOMH60835)60.
a. Gl eireneot - SODBTH
b. 2_ghmuief - wHFHW LIFBHFID
C. Qar&Fdlen - Gayonm
d. smiteuT - GuoBE QUBIBTENID

174. Which one of the following is not correctly matched?
(A) Varishtha Pension Bima Yojana -  Social security for old age
(B) Pravasi Karshal Vikas Yojana — Seeking employment in abroad
(C) PM Fasal Bima Yojana - Insurance coverage to farmers
(D) PM Gram Sadak Yojana —  Empowerment of rural women
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CaThBSHSLIUL L eheudeied 6hdH @eiml Fflums CQUTmHHHTHI?
a. eumflerogm Oueitgedr Liom CuITEREIT -UUISHTeTaUTHEMNET FeLpSLTSHISBTLIL

b. MyBaudasraed alsred Guitggem  -GauefBTL 1960 GauemeveumuILiL]
CxbuBBE,

c. PM unged 1Siom Guumegentt -aleugmuiser smiyflento LD

d. PM &gmo gm_ds Guumegentt -glpmotiyp  GuewideiT  (estGerBmLd

175. Cyanide resistant respiration is found in
(A)  Plants only (B)  Animals only
(C)  Bothplants and animals (D)  Plants and Microbes
GauTd 556060 Fwenall aHTILSHBeT DeuBnled STeRILILGHBSHI.
a. HTeUImIG6Te0 Lo (LD
b. alevmigsaied 10U HLD
C. SHTAUIHIS6T OBMID @ilevmIEHere0
d. sTamiser wHB@Id Hiewanulfseieo

176. Male sex hormone 'testosterone' is produced by
(A) Leydig cells (B) Sertoli cells
(C) Germinal epithelial cells (D) Spermatogonia! Cells
et UTeder ammir@omer ‘GILerd@Lmerdie@rmenet’ 2 @MLSHd OFulag)
a. Geoulgs OF6LH6N
b. QamBLTmE GFe0H6IT
c. Gmmered erigeluied GFe0s6I
d. er0QUTGWL GLTCsmefluled QFe0B6N

177. Total surface area of hollow hemisphere is equal to

(A) 27(R*+r?) sq. units

(B) 27(R*-r?) sq. units

(C) z(3R? +r?) sq. units

(D) #(3R? - r?)sq. units

o aefLBB Slmysd Casmendgler GoTsHSL LBLLFLL wf

a. 27 (R2+12) &. opugser b. 27 (R2-r?) &. su@asel
C.” (3R%+1?) &. seuGHeT d. 7(3R%r?) 7. opEuG®eN

178. The probability that a leap year will have 53 Fridays or 53 Saturdays is
Al B. 2 c.2 D. 2
7 7 7 7

Qm 600 euBLSHFHL 53  OeueTellEHIpemD  Dlebevd 53 FalSSHIPENLOSHET
QUHUSHBHTET HIBLDHH6 HT6wIH
1 2 3 4
a. / b. 7 c. d. 7
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179. Match the following :
a) Annie Besant

( Kesari
(b) Bipin Chandrapal

(

(

Common weal

The New Asia
Yuganthar

c) Boopendra Nath Dutt
d) Tilak

Ll

© ()
1 2

4 3
1 2
4 1

Gxma
SHTLOGT 6160

by, gl
WSBTHST

A. o\e1enQuget

B Wlenr aphayumed

C. uBubSIL B1H 55

D. SHevd
A

b N

pan o

W W~ o
N Yo
RN W NG

3
2
4
2

180. Which is wrongly matched?
(A) Indo - European Family - Arya
(B)  Austric Family - Nishada
(C)  Dravidian P'amily - Dravidian
(D) Sino - Tibetan Family - Munda
SHoumrer QUT(HGHHHWDH HI(BLIGSHHAD?
a. @b MCrminw GGHWwUD - SyFuIT
b. ewedigflé @@HUUD - BlaTLm
c. symaiL @Gwu - Hymalim
d. emgemm FHOusHW GEBWUD - (pedTLT

181. marked the beginning of census taking in India.
(A) The year 1862 (B) The year 1872
(C)  The year 1882 (D)  The year 1892
Ombha BbHFHwmaled WHHeT CFHTend HewTHOBBLL CGHTLRISIILIL L .
a. 186210 au(pLID b. 187210 eu(pLID
C. 18821 au(pHLID d. 18921b eu(pLID
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182. Constitutional status to the Panchayat Raj Institutions was
initiated based on the recommendation of
(A) G.V.K. Rao Committee
(B) L.M. Singhvi Committee
(C) Ashok Mehta Committee
(D) Balwantray Mehta Committee
LEhFTWSHSH  DIMWLILSHEHHEG DIFFWEUMILIL]  DIbHSH0H (P&l  (PWBFSHel
aBSFBILULL G abhd Gupaler ufbaenguler Guwfled?
a. G.V.K. gmei @ b. LM. Frel @ap
c. 9Bsmsh CuwsHaHT GHW d. usveupbsITUI CSHBT GH(1D

183. Which Article of the Constitution of India conferred special leave petitions
power to the Supreme Court?
(A) Art. 136 (B) Art. 32
(C) Art. 139 (D) Art. 226
Ueieumd Qb  SFFlwevenoliler 6hg g o FFHE IABSHHMBEG FBLIL
SIWILG @I GBS DFEBMHMD 6CUPEISGBIBHI?
a. alg 136 b. 18 32 c. a1d 139 d. a8 226

184.Which one of the organisation organised the Gyan Sangam
[Knowledge Summit] in New Delhi on March, 2017?'
(A) Prajna Parvah
(B) Christian Education Society
(C) Students Islamic Movement of India

(D) Democratic Youth Federation of India

gl 1gevedufled 2017 ouewi® OMTEF  OTHHH6L 6lhdH SIGHIOLIL]  SHUWITET  FhiSLD
LOTETLIYeneT Mmoley o FF WIHTHV BLSHBHWIHI?

a. Uygerm umTeur

b. @nflevgien @eval HLPHLD

C. @hsHw @erveumblul OTETEITHET BUISSHLD

d. @pHu QeBTUIE EUTEILT SIENLDLIL

185. Which of the following aim comes under Prime Minister Krishan Sai
Yojana?
(A) Environment
(B) To increase ground water

(C) Cloth production

(D) Free food

rsw wheHh Sifeager gt Cumrmemm HLSHer CrToHsld ereitet?
a. SBOIUD @06 b. Blevssip BT GFpleyl BGoHed

c. giwl 2 _BusHd) d. Bevaus 2 e
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186. Which one of the organic pesticides that contain phosphorous?
(A) DDT (B) BHC
(©)2,4-D (D) Parathion
&6 2 6TeNemeuBaNed 6% LITOOLITED 2 6iTeN 1LLFFe0lsmeoel?
a. DDT b. 0.e5.4 (BHC)
® . 2, 419 (2, 4-D) d. uryTeHEuwimest

187. Match the following :

(a) Mixed fertilizer 1. DAP
(b) Complex fertilizer 2. NPK
(c) Bio fertilizer 3. Oil cake
(d) Organic nitrogen fertilizer 4. Algae
@ 6 © @
A) 1 2 3 4
B) 2 1 4 3
<G 3 2 1 4
(D) 4 3 2 1
CUT(HSHSI:
a. SH6VLIL| 2 _[hIGBEI 1. 1e.6r.L.
b. démevmen o gmise 2. erenr.L1.65
c. 2 ulliT 2 _[Jmigkei 3. erewiOemrl G
d. &fo e»pLye © grhiser 4. und
A B C D
a. 1 2 3 4
b. 2 1 4 3
c. 3 2 1 4
d 4 3 2 1
188. A is often drawn as a guide, so that a frequency polygon can be
drawn over the top.
(A) Frequency

(B) Histogram
(C©) Cumulative Frequency

(D) Rectangle

BBD66U6ET LIevBsTeid auedTWl e UPSTLIQUITS (euenFul EYHUILIGI)
a. BapCeem b. Papbeauem GFaiausd

c. ®ala] MO d. Goeleusid
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189.1f 100 persons can finish a work in 7 days, how many persons can finish
the same work 35 days?
(A) 20 persons (B) 50 persons

(C) 30 persons (D) 25 persons

100 o ser b Gouemevenw! 7 BIL&6MED (P&HEHdb SnbBD eleled D6
Gouemevemwi 35 BT Heifled (PI9HPH eidhHemenll Guit BGzhemeuliiBeu?

a. 20 oy Seir b. 50 syl e

C. 30 Syl Hei d. 25 & el

190. What is the 21st term of the sequence 100, 95, 90, 85.....7

(A) 10 (B) 20 Qo (D) 5
100, 95, 90, 85 etaim3 OFHTLTouflewaFulledr 21eugkl o Ml elesieor?
a. 10 b. 20 c.0 d.5
. . 2x* —162
191. Simplify: 9 2x_6)
A.x2+9 (B) x +3 (CO)x+6 (D) x-6
b ES: 2x* 162
(x> +9)(2x—6)
a.x2-9 b.x+3 c.x+6 d.x-6

192. Who was the first ruler in the Chola-Chalukya line?

(A) RajaRajall (B) Vikrama chola
(©) Kulothunga I (D) Adhi Rajendran
Gamp — sTERHHW anfuled eUbHSH (PHEL DIFFET WITT?
a. OUewiLmbd SyTeg Eymeges b. elayib Gampest
C. (PFHeUTD &HB60TSHSHIMIH 60T d. o8 gr@bayen

193. The Vaikam Satyagraha arose in Kerala in the year
(A)1918 (B) 1924 (C) 1913 (D) 1928
Gayenmalled MaUSEHLD FHHWSTHD HOLOLBB SL6010H
a. 1918 b. 1924 c. 1913 d. 1928

194. Periyar incorporated the ideas of the justice party and formed a new party
called
(A) Dravida Kazhagam
(B) Dravida Munnetra Kazhagam
(C) Swantara party
(D) Anna Dravida Munnetra Kazhagam
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Quflwnit  pHESFulet BHHSHBHIBMEN  PAIMeNenISHSH  6hdH UHw &L Senwl

SIS
a. Hymell &b b. SyralL (WweiGeiBm &1paHID
C. &HHAIT &g d. siewiewm Ayrel. (pGIGamIBB HLOBID

195. Which one of the following changes was not called by the Gandhian
model and growth in the Indian Planning System?

(A) To replace production oriented planning with employment
oriented planning

(B) To replace employment oriented planning with the production
oriented planning

©) It is in favour of small scale and cottage industries

(D) It is against large scale industries producing consumer goods

SMHHU  (PpewB  WLBBID  euenTFFuleriy @phHul  HULLOL 60, SDSTEILICUBI6NT
6bg LoMBMLD GHMILILL aevens0?

a. 2 pusHE FMhHe HULIOLIbGL LHeons, Ceusmev Cphrdhsmer L LOL 60

b. Geouemev GpTdsmen HLIOL GG LFHevTd o _BLGHd GhmobsTear &L 1060
c. dlw wBEID GmFsH OCFHTHNOBRIBEHHSGHF FTHBHLOTIH

d. msTeuTmeT 2 BusHd Geuiud uflu CHTHEBIBEEHEHSG THTTEIH

196. The word 'Secularism' was inserted in the preamble of the constitution
after supreme court of India observed 'Secularism' was a basic feature of
constitution in

(A) 1975 (B) 1973  (C) 1976 (D) 1981

‘IDHF  FATLIGITENID’ 6B QUTTHNSH, DFFWeVenIOLI] FLL ST (PpSLi  eufluled
eI BBLILL L HBE (peateoTy ® FF HADETBLD ‘IHEF L leTentn’
SIFwevmlILF FULSHHE DIYliLenL.  FnmIH6ied @6Iml 61}l Fapflul  SLewI(H
61g1?

a. 1975 b. 1973 c. 1976 d. 1981

197. Which of the following objectives regarding Skill India Mission is

incorrect?

(A) Its objective is to achieve skilling of the youth across the country

(B) Its aim is to remove financial constraints in accessing skill training
programmes

(C) Under the mission, loans from Rs. 50,000 to 1.5 lakh will be available to
more the 34 lakh Youth of India

(D) The tagline of this mission is Kaushal Bharat

Note: The tagline, ‘Kaushal Bharat, Kushal Bharat’
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CaThBSHSLILL (BeiTenemaubeaied HMeT @HHWT HlLdHHear Houprer GnBHCHT6I

o1g1?

a. BTG (PWeu b 2o 6en  BevenehTseer FHmener GCLbLGSHHCD  BFHedr
GEIEES IET)

b. Fmer LuIBd AL GHeGT cpeold HFH QHTLALTDT HewL HW6T BHHGHeUSH EFH60T
&N HCHMeNTG)LD

C. @bhsHwraled 34 e FD @menEhTHEndHE @5.50,000 (pHe0 1.5 60U FLb
AUPBIGHFH BH6I  LIGwiUWITGLD.
d. &maged UTTSH GISILGI BHET DPSHBIOTGLD.

198. Which country physicists created a new form of Hydrogen? (Negatively
charged hydrogen cluster)
(A) India (B) Austria (C) Australia (D) China
mamL Jefet UHw ewioli]  (THToemm  WO6Tenm L 1D OBTewiL ML [JeQ6sr
OaT@Y) 6bhsp BTG SuwBLlued DINSlEhTHeNTe0 2 (HeuTdaLliul L g7

a. ®baHwr b. eevgfuir
C. LervdGyeduim d. Fer
199. Kaviko Arakkattalai Award given to during the year 2017.
(A) Poet Muthulingam (B) Poet Vairamuthu
(C) Poet Vali (D) Poet Vijay
HNECHT  omeHsLLmenuler  &alsEGsm  alha 2017 b Lewilh
GULDMRISBLILIL LS.
a. &alEhT (IPSHHIe0HIHLD b. ®alehT (Pl
C. &alEhT 6uTed d. ®alehT algul

200. What percentage of downtrodden students entrolment in private schools
as per Right to Education Act?
(A) 25 (B) 26 (C) 27 (D) 28
slLTW Seval o feno FLLHFHeT S edhHmen FHaid Hedeuaml bd Lfleweusd
FMMhS GLHMBHHT HeWTT LieTembefled GaFrdhaliiL GeouemiBd?
a. 25 b. 26 c. 27 d. 28
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